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1H 2 A 3 A 4 H 5H 6 A
B | B1A | B | 214 | B | B4 | B | B4 | A% | A | A% | B4
RN R R 21| 67.8 16| 57.2 7| 22.6 3| 10.0 12| 38.7 41 13.3
— ARz 9] 29.0 9| 32.1 5| 16.1 15| 50.0 41 12.9 3| 10.0
AL RZ IR 1 3.2 3| 10.7 19| 61.3 12| 40.0 15| 48.4| 23| 76.7
7t 31/100.0| 28] 100.0 31 100.0 30 | 100.0 311 100.0| 301 100.0
7 A 8 A 9 A 10 H 11 A 12 H &t
B | B4 | A% | 216 | A% | BA | B% | BE | B | BA | BE | BEE | A | BA
AIRNRZ T 6] 19.4 5 16.1 41 13.3 71 22.6 17| 56.7 17| 54.8| 119| 32.6
— ARz 41 12.9 6| 19.4 8| 26.7 11| 35.5 71 23.3 7| 22.6| 88| 24.1
LG AN 21| 67.7| 20| 64.5 18] 60.0 13| 41.9 6| 20.0 7| 22.6| 158 43.3
7t 31/100.0| 31]100.0 30 | 100.0 31| 100.0 30| 100.0 | 31]100.0| 365 100.0
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2 4 6 8 9 10 11 12 A
1H 2 A 3 A 4 H 5H 6 A
B | B4 | B3| B8 | A%k | B4 | B | B6 | A% | BE | B | BE
RN 2T 19| 61.3 17| 58.6 6| 19.4 14| 46.7 12| 38.7 2 6.7
— R 8| 25.8 71 24.1 2| 6.4 3| 10.0 5| 16.1 3| 10.0
AL RZIRN 41 12.9 5| 17.3 23| 74.2 13| 43.3 14| 45.2| 25| 83.3
7t 31100.0| 29 100.0 31 100.0 30 | 100.0 311100.0| 301 100.0
7H 8 H 9H 10 A 11 A 12 A &Ft
B | BIA | A% | S8 | A%k | A | B | H16 | A% | BE | B | BE | A% | A
RN RZ I 0ol 0.0 41 12.9 7| 23.3 12| 38.7 16| 53.4| 22| 71.0] 131] 35.8
— MR 2| 6.5 91 29.0 6| 20.0 7| 22.6 71 23.3 5| 16.1] 64| 17.5
ST AN 29| 93.5 18] 58.1 17| 56.7 12| 38.7 71 23.3 41 12.9| 171| 46.7
i 311100.0| 31]100.0 30 | 100.0 31| 100.0 30| 100.0| 311]100.0]| 366 | 100.0
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¥ | &lE | A% | &a | A% | Ba | A% | BE | B | BE | B | RS
SEMARAT | 14| 45.2| 18| 64.2| 15| 48.4| 14| 46.7| 9| 29.0| 3| 10.0
— AT al 12290 5| 17.9| 4| 1229 3| 10.0| 7| 226 1| 3.3
EXQ & 13 41.9| 5| 17.9| 12| 38.7| 13| 43.3| 15| 48.4| 26| 86.7
At 31/100.0| 28|100.0| 31|100.0| 30|100.0| 31[100.0| 30 |100.0
7H 8 H 9H 10 A 11 A 12 4 ot
A | e | A% #la | A% | #la | A% #la | A% #le | BE | B | RE | #S
BERNRA T 1| 32| 8| 25.8| 7] 233| 13| 41.9| 19| 63.4| 17| 54.9| 138| 37.8
— R R 1| 32| 1| 32| 6] 2.0 5| 162 7| 233 9| 29.0| 53| 14.5
ARAR 29| 93.6| 22| 71.0| 17| 56.7| 13| 41.9| 4| 13.3| 5| 16.1| 174| 47.7
it 31/100.0 | 31|100.0| 30|100.0| 31|100.0| 30[100.0| 31 [100.0| 365 | 100.0
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B | Bl | REC|] BIE | A% | Be | A% | B | B | B | RE | BE
kMR | 17| 54.8| 21| 75.0| 10| 32.2| 18| 60.0| 16| 51.6| 1| 3.3
— BRI 8| 25.8| 4| 14.3| 7| 22.6 1| 3.3 6| 194 1| 3.3
ARARD 6| 19.4| 3| 10.7| 14| 45.2| 11| 36.7| 9| 29.0| 28| 93.4
it 311100.0| 28100.0| 31]100.0| 30|100.0| 31{100.0| 30 |100.0
7H 8 H 9H 10 A 11 A 12 A e
¥ | &IE | A% | &a | A% Ba | A% | Be | B | Be | BE | Be | BE | BIE
SfkARZ | 11| 36.5| 8| 25.8| 7| 23.3| 8| 25.8| 12| 40.0| 20| 64.5| 149 | 40.8
—BRA T 3| 9.7 3| 9.7| 5| 16.7| 15| 48.4| 10| 33.3| 8| 25.8| 71| 19.5
2LRZIRN 17| 54.8| 20| 64.5| 18| 60.0| 8| 25.8| 8| 26.7| 3| 9.7| 145| 39.7
it 31|100.0| 31/100.0| 30|100.0| 31[100.0| 30|100.0| 31|100.0| 365 | 100.0
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¥ | &lE | A% | &a | A% | Ba | A% | BE | B | BE | B | RS
AfkARA | 25| 80.6| 17| 60.7| 8| 25.8| 10| 33.3| 11| 35.4| 4| 13.3
— AT 3| 9.7 6| 21.4| 8| 25.8| 8| 26.7| 10| 32.3| 7| 23.3
ARARD 3| 9.7 5| 17.9] 15| 48.4| 12| 40.0| 10| 32.3| 19| 63.4
it 31/100.0 | 28|100.0| 31|100.0| 30|100.0| 31]100.0| 30 |100.0
7H 8 H 9H 10 A 11 A 12 A e
A | e | A% #la | A% | #la | A% #la | A% #le | BE | B | RE | #S
BEBRZT- o 00| 5| 16.1| 11| 36.7| 15| 48.4| 20| 66.7| 23| 74.2| 149 | 40.8
— R R 5| 16.1| 7| 226 6| 20.0| 7| 22.6| 9| 30.0| 6| 19.4] 82| 22.5
ARAR 26| 83.9| 19| 61.3| 13| 43.3| 9| 29.0| 1| 3.3 2| 6.4]| 134| 36.7
it 31/100.0 | 31|100.0| 30|100.0| 31|100.0| 30[100.0| 31 [100.0| 365 | 100.0
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1H 2 A 3 A 4 H 5H 6 A
B | B4 | B3| B8 | A%k | B4 | B | E6 | A% | BA | B | BE
RN 2T 18| 58.1 14| 48.3 12| 38.7 9] 30.0 6| 19.4 2 6.6
— R 91 29.0 71 24.1 7| 22.6 11| 36.7 6| 19.4 5| 16.7
AL RZIRN 41 12.9 8| 27.6 12| 38.7 10| 33.3 19] 61.2| 23| 76.7
7t 31100.0| 29 100.0 31 100.0 30 | 100.0 311100.0| 301 100.0
7 H 8 A 9 A 10 A 11 A 12 A &Et
B | Bla | B | 38 | A%k | Ba | B | 516 | B | Be | B | BE | Ak | BE
RN Z T 41 12.9 0 0.0 9| 30.0 14| 45.2 11] 36.7| 20| 64.5| 119| 32.5
— MRz 5| 16.1 11| 35.5 10| 33.3 10| 32.2 10] 33.3 7| 22.6| 98| 26.8
LG AN 22| 71.0| 20| 64.5 11| 36.7 7| 22.6 9] 30.0 41 12.9| 149 | 40.7
7t 31100.0| 31]100.0 30 | 100.0 31| 100.0 301100.0 | 31|100.0| 366 |100.0
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1H 2 A 3 A 4 H 5H 6 A
B | B4 | B3| B8 | A%k | B4 | B | E6 | A% | BA | B | BE
RN 2T 221 71.0 13| 46.4 9] 29.0 81 26.7 3 9.7 31 10.0
— R RZ T 91 29.0 10| 35.7 10| 32.3 7| 23.3 6| 19.3 9| 30.0
AL RZIRN 0ol 0.0 5| 17.9 12| 38.7 15| 50.0 22| 71.0| 18| 60.0
7t 31100.0| 28] 100.0 31 100.0 30 | 100.0 311100.0| 301 100.0
7 H 8 A 9 A 10 A 11 A 12 A &Et
B | Bla | B | 38 | A%k | Ba | B | 16 | B | Be | B | BE | A% | BE
RN Z T 2| 6.5 0 0.0 6| 20.0 21| 67.7 16| 53.3| 17| 54.9| 120 32.9
— MRz 9] 29.0 5| 16.1 8| 26.7 7| 22.6 6| 20.0 9| 29.0| 95| 26.0
LG AN 20| 64.5| 26| 83.9 16| 53.3 31 9.7 8| 26.7 51 16.1] 150 | 41.1
7t 31/100.0| 31]100.0 30 | 100.0 31| 100.0 301100.0| 31|100.0| 365|100.0
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B | B4 | B3| B8 | A%k | B4 | B | E6 | A% | BA | B | BE
RN 2T 15| 48.4 11| 39.3 81| 25.8 71 23.3 19.4 8| 26.7
— R 71 22.6 10| 35.7 15| 48.4 3| 10.0 19. 4 41 13.3
AL RZIRN 9] 29.0 71 25.0 8| 25.8 20| 66.7 61.2| 18| 60.0
7t 31100.0| 28] 100.0 31 100.0 30 | 100.0 100.0 | 30| 100.0
7 H 8 A 9 A 10 A 11 A 12 A &Et
B | Bla | B | 38 | A% | Ba | B | 16 | B | Be | B | BE | A% | BE
RN Z T 5| 16.1 1 3.2 8| 26.7 16| 51.6 70.0| 20| 64.5] 126| 34.5
— MRz 3| 9.7 41 12.9 1 3.3 5| 16.1 30.0 71 22.6| 74| 20.3
LG AN 23| 74.2| 26| 83.9 21| 70.0 10| 32.3 0.0 41 12.9| 165 | 45.2
7t 31/100.0| 31]100.0 30 | 100.0 31| 100.0 100.0 | 31]100.0| 365 100.0
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1H 2 A 3 A 4 H 5H 6 A
B | B4 | B3| B8 | A%k | B4 | B | E6 | A% | BA | B | BE
RN R Z T 221 71.0 19| 67.9 12| 38.7 11| 36.7 29. 0 31 10.0
— R 8| 25.8 5| 17.8 6| 19.4 12| 40.0 16. 1 71 23.3
EXGT AN 1 3.2 41 14.3 131 41.9 71 23.3 17] 54.9| 20| 66.7
7t 31100.0| 28 100.0 31 100.0 30 | 100.0 311100.0| 301 100.0
7 H 8 A 9 A 10 A 11 A 12 A &k
B | Bla | B | 38 | A% | Ba | B | 16 | B | Be | B | BE | A% | BE
RN RZ T 41 12.9 5| 16.1 5| 16.6 12| 38.7 20| 66.6| 22| 71.0| 144 | 39.4
— MRz 11| 35.5 10] 32.3 11| 36.7 9| 29.0 5| 16.7 8| 25.8| 97| 26.6
LG AN 16| 51.6| 16| 51.6 14| 46.7 10| 32.3 5| 16.7 1 3.2 124 34.0
7t 31/100.0| 31]100.0 30 | 100.0 31| 100.0 301100.0| 31|100.0| 365|100.0
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B | B4 | B3| B8 | A%k | B4 | B | E6 | A% | BA | B | BE
RN 2T 13| 41.9] 20| 69.0 21| 67.7 17| 56.7 41 12.9 2 6.6
— R 10| 32.3 81 27.6 41 12.9 7| 23.3 12| 38.7 8| 26.7
AL RZIRN 8| 25.8 1 3.4 6| 19.4 6| 20.0 15| 48.4| 20| 66.7
7t 31100.0| 29 100.0 31 100.0 30 | 100.0 311100.0| 301 100.0
7 H 8 A 9 A 10 A 11 A 12 A &Et
B | Bla | B | 38 | A% | Ba | B | 16 | B | Be | B | BE | A% | BE
RN RZ T 6| 19.4 0| 0.0 12 40.0 10| 32.3 12 40.0| 22| 71.0| 139| 38.0
— MRz 61 19.4 91 29.0 41 13.3 6| 19.3 6| 20.0 41 12.9| 84| 22.9
LG AN 19| 61.2] 22| 71.0 14| 46.7 15| 48.4 121 40.0 51 16.1] 143| 39.1
7t 31/100.0| 31]100.0 30 | 100.0 31| 100.0 301100.0 | 31|100.0| 366 |100.0
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2 4 6 7 8 10 §=)
1H 2 A 3 A 4 H 5H 6 A
B | B4 | B3| B8 | A%k | B4 | B | E6 | A% | BA | B | BE
RN 2T 21| 67.8 12| 42.9 14| 45.2 18| 60.0 22.6 2 6.7
— R 1 3.2 5| 17.8 5| 16.1 3| 10.0 9.7 ol 0.0
AL RZIRN 9] 29.0| 11| 39.3 12| 38.7 9| 30.0 67.7| 28| 93.3
7t 31100.0| 28] 100.0 31 100.0 30 | 100.0 100.0 | 30| 100.0
7 H 8 A 9 A 10 A 11 A 12 A &Et
B | Bla | B | 38 | A% | Ba | B | 16 | B | Be | B | BE | A% | BE
RN 2T 0 0.0 1 3.2 6| 20.0 9] 29.0 60. 0 17| 54.9| 125 34.3
— MRz 3| 9.7 31 9.7 6| 20.0 8| 25.8 10.0 5| 16.1] 45| 12.3
LG AN 28| 90.3| 27| 87.1 18] 60.0 14| 45.2 30.0 9| 29.0| 195| 53.4
7t 31/100.0| 31]100.0 30 | 100.0 31| 100.0 100.0 | 31]100.0| 365 100.0
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100 BRI
O2%NRZ T
80
60
40
20 |
0
1 2 4 6 7 8 10 11 §=)
1H 2 A 3 A 4 H 5H 6 H
B | B4 | B3| B8 | A%k | B4 | B | E6 | A% | BA | B | BE
RN R Z T 20| 64.5 13| 46.4 15| 48.4 12| 40.0 16. 1 4] 13.3
— R 2| 6.5 41 14.3 41 12.9 41 13.3 12.9 6| 20.0
EXGT AN 9] 29.0| 11| 39.3 12| 38.7 14| 46.7 71.0| 20| 66.7
7t 31100.0| 28] 100.0 31 100.0 30 | 100.0 100.0 | 30| 100.0
7 H 8 A 9 A 10 A 11 A 12 A &k
B | Bla | B | 38 | A% | Ba | B | 16 | B | Be | B | BE | A% | BE
RN RZ T 41 12.9 71 22.6 6| 20.0 17| 54.8 63.3| 14| 45.1] 136| 37.3
— MRz 5| 16.1 10] 32.3 9] 30.0 61 19.4 20. 0 6| 19.4| 66| 18.1
LG AN 22| 71.0| 14| 45.1 15| 50.0 8| 25.8 16.7] 11| 35.5| 163| 44.6
7t 31/100.0| 31]100.0 30 | 100.0 31| 100.0 100.0 | 31]100.0| 365 100.0
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100 B—HARZ
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40 ¥
20 ¥
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2 3 4 6 7 9 10 11 §=)
1H 2 A 3 A 4 H 5H 6 A
B | B4 | B3| B8 | A%k | B4 | B | E6 | A% | BA | B | BE
RN 2T 18| 58.1 71 25.0 15| 48.4 81 26.7 41 12.9 5| 16.7
— R 6] 19.3 71 25.0 41 12.9 41 13.3 8| 25.8 1 3.3
AL RZIRN 71 22.6| 14| 50.0 12| 38.7 18| 60.0 19| 61.3| 24| 80.0
7t 31100.0| 28] 100.0 31 100.0 30 | 100.0 311100.0| 301 100.0
7 H 8 A 9 A 10 A 11 A 12 A &Et
B | Bla | B | 38 | A% | Ba | B | 16 | B | Be | B | BE | A% | BE
RN RZ T 0ol 0.0 0| 0.0 9| 30.0 14| 45.2 6| 20.0| 18| 58.1| 104| 28.5
— MRz 1 3.2 5| 16.1 7| 23.3 9| 29.0 10] 33.3 5| 16.1] 67| 18.3
LG AN 30| 96.8| 26| 83.9 14| 46.7 8| 25.8 14| 46.7 8| 25.8] 194| 53.2
7t 31/100.0| 31]100.0 30 | 100.0 31| 100.0 301100.0| 31|100.0| 365|100.0
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1H 2 A 3 A 4 H 5H 6 A
B | B4 | B3| B8 | A%k | B4 | B | E6 | A% | BA | B | BE
RN 2T 19| 61.3 20| 69.0 11| 35.5 15| 50.0 22.6 5| 16.7
— R 5| 16.1 41 13.8 8| 25.8 41 13.3 6.5 3| 10.0
AL RZIRN 71 22.6 5| 17.2 12| 38.7 11| 36.7 70.9| 22| 73.3
7t 31100.0| 29 100.0 31 100.0 30 | 100.0 100.0 | 30| 100.0
7 H 8 A 9 A 10 A 11 A 12 A &Et
B | Bla | B | 38 | A% | Ba | B | 16 | B | Be | B | BE | A% | BE
RN RZ T 6| 19.4 8| 25.8 3| 10.0 9] 29.0 56.7| 16| 51.6] 136| 37.2
— MRz 8| 25.8 31 9.7 9] 30.0 61 19.4 30.0 | 13| 41.9| 74| 20.2
LG AN 17| 54.8| 20| 64.5 18] 60.0 16| 51.6 13.3 2 6.5| 156 | 42.6
7t 31/100.0| 31]100.0 30 | 100.0 31| 100.0 100.0 | 31]100.0| 366 | 100.0
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B | B4 | B3| B8 | A% | B4 | B | B6 | A% | BA | B | BE
RN R Z T 18| 58.1 12| 42.9 17| 54.8 11| 36.7 71 22.6 0 0.0
— R 8] 25.8 71 25.0 41 12.9 41 13.3 11| 35.5 5| 16.7
AL RZIRN 5| 16.1 9| 32.1 10| 32.3 15| 50.0 13] 41.9| 25| 83.3

7t 31100.0| 28] 100.0 31| 100. 0 30 | 100. 0 311100.0| 301 100.0
7 H 8 H 9 A 10 A 11 A 12 A &3

B | BIA | A% | B8 | A%k | A | B | H16 | A% | BE | B | BE | A% | A
RN RZ T 2| 6.5 31 9.7 9| 30.0 13| 41.9 21| 70.0| 26| 83.9| 139 38.1
—¥BN RA T 2| 6.5 41 12.9 41 13.3 8| 25.8 5| 16.7 41 12.9] 66| 18.1
LG AN 27| 87.0| 24| 77.4 17| 56.7 10| 32.3 41 13.3 1 3.2| 160| 43.8

7t 31/100.0| 31]100.0 30 | 100. 0 31| 100. 0 30(100.0 | 31|100.0| 365|100.0
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1H 2 A 3 A 4 H 5H 6 A
B | B4 | B3| B8 | A%k | B4 | B | B6 | A% | BA | B | BE
RN 2T 12| 38.7 12| 42.8 14| 45.2 71 23.3 41 12.9 2 6.7
— R 9| 29.0 5| 17.9 31 9.6 8| 26.7 6| 19.4 5| 16.7
AL RZIRN 10| 32.3 11| 39.3 14| 45.2 15| 50.0| 21| 67.7| 23| 76.6
7t 311100.0| 281]100.0 31| 100. 0 30 | 100. 0 311100.0| 301 100.0
7 H 8 H 9 H 10 A 11 A 12 H &3
B | Bl& | B | 38 | A% | Ba | B | 16 | B | Be | B | BE | A% | BE
RN RZT 31 9.7 6| 19.4 11| 36.7 11| 35.5 15| 50.0| 19| 61.3| 116]| 31.8
—¥BN RA T 31 9.7 6| 19.4 10| 33.3 8| 25.8 8| 26.7 5| 16.1] 76| 20.8
ST AN 25| 80.6| 19| 61.2 9| 30.0 12| 38.7 7| 23.3 7| 22.6| 173 | 47.4
7t 311100.0| 31]100.0 30 | 100. 0 31| 100. 0 30(100.0| 31|100.0| 365|100.0
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3 4 5 6 7 8 9 10 11 12 A
1A 2 A 3 A 4 A 5H 6 H
A | #5 | A% | #16 | B BE | A% | B4 | A%k | #16 | A% | #E
StknRz- | 20| 64.5| 14| 50.0| 16| 51.6| 10| 33.3 9| 29.0 3] 10.0
— R R T 6| 19.4 6| 21.4 6| 19.4 9| 30.0 7| 22.6 8| 26.7
EG AN 5| 16.1 8| 28.6 9| 29.0| 11| 36.7| 15| 48.4| 19| 63.3
s 31/100.0| 28[100.0| 31[100.0| 30]100.0| 31]100.0| 30/ 100.0
7 A 8 A 9 A 10 A 11 A 12 H &3
B | #5 | A% | #16 | B BE | A% | BE | Bfk | #6 | A% | BE | B | #E
SRR R 0| 0.0 30 9.7 71 23.3| 11| 35.4| 15| 50.0| 18| 58.0| 126 34.5
—EB R 1] 3.2 8| 25.8 4] 13.3] 10| 32.3] 10| 33.3| 10| 32.3| 85| 23.3
AR AR 30| 96.8| 20| 64.5| 19| 63.4| 10| 32.3 5| 16.7 30 9.7 154 42.2
s 31/100.0| 31[100.0| 30[100.0| 31]100.0| 30]100.0| 31]100.0]| 365 100.0
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1 3 5 7 8 9 0 11 1 A
1A 2 H 3 A 4 A 5H4 6 H
H¥c | 216 | B% | #14 | B% | 246 | Bt | 25 | BH& | ®4 | & | 4
AtkniRzt | 14| 45.2| 21 72.4| 13| 41.9| 13| 43.3] 9| 20.0| 4| 13.3
Rz | 10] 32.2] 5| 17.2] 8| 25.8 51 16.7] 8| 25.8| 4| 13.3
X EE 70 2226 3| 10.4| 10| 32.3| 12| 40.0| 14| 45.2| 22| 73.4
3t 311100.0| 29|100.0| 31]100.0| 30|100.0| 31|100.0| 30]100.0
7R 8 A 9 H 10 A 11 A 12 A a3t
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